Seating Arrangement ( Day 1)
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Q. Eight persons A, B, C, D, E, F, Gand H are sitting around a circular table facing the centre.. D is

between Gand A, a_:p_g_ is facing B. F is between A and H, and H is third to the rigiht og D. E is second to

the left of G. Who are the persons sitting immediately to the left of C? (1 ¥ > g 5
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Q.M,N,P,R, T, W, F and H are sitting around a circle at the centre, P is third to the left of M and second to the
right of T. N is second to the right of P. R is second to the right of W who is second to the right of M. F is not an
immediate neighbour of P. Who is to the immediate rightof P? O. M, N, P, R, T, W, F AR H%Ts(' H UP gd & IRI
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Seating Arrangement ( Day 1)
Six friends A, B, C, D, E and F are sitting around a round table facing the centre. A sits
second to the right of B, E sits second to the left of C. B doesn't sit adjacent to E.D does not
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Q. Six cars labelled D, F, H, J, L and N are parked around a circular path facing towards the centre (not necessarily
in the same order). H is third to the right of N. J is to the immediate left of D, F is second to the leftof N, D is
second to the left of F Which car is parked second to the ri ht of H?
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Q.PQ,R,S, T U, Vand W are sitting round the circle and are facing the centre: P is second to
the right of T who is the neighbour of R and V. S is not the neighbour of P. V is the neighbour of

U. Qis not between S and W. W is not between U and S. U is the right of S. Who is sitting adjacent
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Q. Six cars labelled D, F, H, J, L and N are parked around a circular path facing towards the centre (not necessarily in the

same order). H is third to the right of N. J is to the immediate left of D, F is second to the left of N, D is second to the left
of F, Which car is parked second to the right of H?
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Seating Arrangement ( Day 1)

Eight persons- A, B, C, D, E, F, G, and H are sitting at the circular table and facing outside but not necessarily
in the same order. C sits third to the left of E. Only one person sits between E and F. G sits immediate right of
H. H neither sits opposite to C nor F. The number of persons sitting between F and G is the same as between

E and A. B does not sit m D sits second to the m A, B CD,EFG 3T H HU®
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Seven persons-T, U, V, W, X, Y and Z are sitting around a circular table such that all of them are facing away
from the centre, but not necessarily in the same order. Z sits to the immediate right of T. Two persons sit
between Z and X. Y sits second to the left of X. The number of persons sitting between T and X is same as the
number of persons sitting between T and V. Both W and X are not immediate neighbours. HId - T,UV,
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